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PART A: Grammar and Vocabulary
Directions: Questions 1-10 are incomplete sentences. Beneath each sentence you will see four words or phrases

marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the sentence. Then mark your
answer sheet.

1- We have ...... pieces of cheese and ...... eggs we can eat for now, so we don’t have to go out.
1) some / a little 2) some / a few 3) no/some 4)a/afew
2- “Do you think you will get good marks next year?” “If I ...... hard, I .......
1) study / will 2) studied / do 3) study / do 4) will study / will
31 ... him for three years. It is because | haven't been there ...... I left school.
1) haven't seen / for 2) haven't seen / since 3) didn’t see/ just 4) don’t see / since
4- The amount of money which will be paid to you ...... the kind of work you do and the experience
you have.
1) depends on 2) gets along 3) refers to 4) wakes up
5- Mid-term exams usually have ...... values for teachers who want to foresee how the results of the
final exam would be.
1) uncountable 2) contrastive 3) progressive 4) informative
6- There should be a very close ...... between the lessons the students learn at schools and the needs
they are to face in future.
1) education 2) relationship 3) recreation 4) understanding
7- We faced some serious difficulties in the process of the ...... of data for the research.
1) introduction 2) appreciation 3) creation 4) collection
8- The doctor told the father never to make any ...... to my sister’s illness and advised him to speak to
her more about her future plans.
1) experience 2) influence 3) reference 4) difference
9- The passengers have been burnt so terribly that nobody is able to ...... them.
1) imagine 2) carry 3) develop 4) identify

10- To increase the quantity and quality of the products, all machines in the production lines must be
serviced most ...... .
1) honestly 2) fortunately 3) physically 4) frequently

PART B: Conversation
Directions: Questions 11-15 are related to the following conversation. Read the conversation and decide which

choice (1), (2), (3), or (4) best fits each space. Then mark your answer sheet.

A: Hi Ron, how is your grandmother?
B: Hi Cedric. She’s not good at all. Yesterday she had a heart ...(11)..., and we took her to the
hospital.
A:...(12)...?
B: Yes, sadly. The doctor measured her ...(13)... pressure and said she should not eat too much fast
food.
A: | cannot believe she still eats fast food!
B: In addition to that, her ...(14)... to the Internet is very harmful for her. She just keeps sitting in
front of the laptop.
A: | think you have to find a way to ...(15)... her from doing these things. They can make her die!
11- 1) attack 2) bike 3) mission 4) relationship
12- 1) Nope 2) Why not 3) Really 4) All right
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13- 1) habit 2) blood 3) manner 4) oil
14- 1) vegetable 2) addiction 3) laughter 4) member
15- 1) swim 2) imagine 3) prevent 4) travel

PART C: Cloze Test
Directions: Questions 16-20 are related to the following passage. Read the passage and decide which choice (1), (2),

(3), or (4) best fits each space. Then mark your answer sheet.

It often appears that we have more to gain by speaking than by listening. One big advantage of
speaking is that it gives you a chance to ...(16)... thoughts and actions. Whatever your ...(17)... is, the key
to success seems to be the ability to speak well. Another apparent advantage of speaking is the chance it
...(18)... to gain the admiration, respect, or liking of others. Finally, talking offers you the chance to
spend energy in a way that listening ...(19)... . In the same way, you can often lessen your...(20)...by
letting it out verbally.

16- 1) control 2) award 3) place 4) track
17- 1) goal 2) reason 3) wonder 4) research
18- 1) receives 2) attracts 3) gives 4) designs
19- 1)isn’t 2)is 3) can 4) can’t
20- 1) anger 2) value 3) paradise 4) notice

PART D: Reading Comprehension

Directions: In this part of the test, you will read a passage. Answer the questions by choosing the best choice (1),
(2), (3), or (4). Then mark your answer sheet.

Smaller cars may someday take the place of today’s big automobiles. If everyone drives small cars in
the future, there will be fewer problems in cities. There will be more space for parking cars in cities,
and the streets will be less crowded. The little cars will cost much less to own and to drive. Driving will
be safer, too, as these little cars can go only 65 kilometers per hour.

The cars of the future will be fine for getting around a city, but they will not be useful for long trips.
If the car uses electricity, it will have two batteries: one battery for the engine and one for the other
parts. Little cars which use gasoline will go 450 kilometers before needing to stop for more gasoline.

21- According to the passage, why is it better to have one of these small cars?

1) They need two batteries. 2) They are too fast.

3) They are less dangerous. 4) They can go 450 kilometers per hour.
22- What will happen if we use these small cars?

1) We won’t need electricity. 2) We will have fewer accidents.

3) We will have more crowded streets. 4) We won’t need any parking spaces.
23- What are these small cars good for?

1) Long trips 2) Using electricity

3) Using gasoline 4) Driving in large cities
24- How can we have fewer problems in big cities, according to the passage?

1) By making smaller cars 2) By using electricity

3) By using less gasoline 4) By parking our cars in convenient places

25- Which sentence is NOT true about these small cars?
1) They don’t cost more than today’s cars. 2) They use electricity or gasoline.
3) They can travel long distances. 4) They may someday be used instead of big cars.
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